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The University of Mustansirivah
College of Science
Department of ...Mathemaltics...........
Test Term /20162017
) First Class
Subject: Calculusl Time:100 min
Examiner: Assist. Prof. Dr Najm Al-Seraji

Note: Answer six questions only.

1) Find x if the slope of the line through (1,2) and (x, 0) is thevnegative

B -

of the line through (4,5) and (x, 0).

2) Solve the iﬁequality |x 4+ 3] < |x — 8| and sketch the solution on a

coordinate line.

. 3) Sketch the graph of y=x?+6x.
* i —— AAANS

A
K@Fi“d Dfyg and Dgq if, f(x) = V5 ~x and g(x) =Vx—3.
\\V /\_/\_/

Ve N

2 = :
.Syhow that f(x) = {xx t ;’ i X 1 is continuous but not

differentiable at x = 1.

£ —
6) Find a)| limy e, |——
o =

B how that, csch™ x = In(= + m) G0, /

My Best wishes

Examiner Signature





image9.jpeg




image10.jpeg
et g (- =

The University of Mustansiriyah
College of Science
Department of ...Mathematics...........
Test Term /2016 — 2017
First Class
Subject: Calculusl Time:100 min
Examiner: Assist. Prof. Dr Najm Al-Seraji

Note: Answer six questions only.

1) Find x if the slope of the line through (1,2) and (x, 0) is the negative
of the line through (4,5) and (x, 0).

2) Solve the inequality |x + 3| < |x — 8| and sketch the solution on a
coordinate Jine.

3) Sketch the graph of y = x% + 6x .
4) Find Dr 4 and D g if, f(x) = V5 —x and g(x) =vx—3.

2
e e R -
5) Show that f(x) ~{ e B continuous but not

differentiable at x = 1.

Sopad
6) Find a) limxﬁwﬁ b) lLiL%—“(Z }Z) -

m) (x # 0).

7) Show that, csch™ x = In(% +

fx

My Best wishes

Y Examiner Signature
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The University of Mustansiriyah
College of Science
Department of ...Mathematics..........
Test Term /2016 - 2017
First Class
Subject: Calculusi

Time:100 min
Examiner: Assist. Prof. Dr Najm Al-Seraji

Note: Answer six questions only.

1) Find x if the slope of the line through (1,2) and (x, 0) is the negative

of the line through (4,5) and (x, 0).

2) Solve the inequality |x + 3| < |x — 8| and sketch the solution on a

coordinate line.

3) Sketch the graph of y = x? + 6x .

e
v/’

C)Fmd Drygand Do if, f(x) = V5 =x and glx) =~x—3.
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2
5) Show that f(x)= {x 42 x =i

is continuous but t
LED, w1 AR

differentiable at x = 1.
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The University of Mustansiriyah
College of Science
Department of ...Mathematics..........
Test Term /2016 - 2017
First Class
Subject: Calculusl Time:100 min
Examiner: Assist. Prof. Dr Najm Al-Seraji

L

Note: Answer six questions only.

5 y R
2253 y o D g s
1) Find x if the slope of the line through (1,2) and (x, 0) is the negative

of the line through (4,5) and (x, 0).

s Lo
~2) Solve the inequality |x + 3| < |x — 8] and sketch the solution on a

coordinate line.

Sl 5 i
3) Sketch the graph of y = X +6x.
225\ 2 . :
4) Find D¢, 4 and Dfsqif, f(x) =V5—x and g(x) = V=13

s

2 OI\M
5) Show that f(x) = {xx 1_ % if i is continuous but not

differentiable at x = 1.

— PR
6) Find a) lim,_, gt b) Jjin 22 8 g
6x—8 h-0 h

“1;’"2) (x # 0).
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J 7 7) Show that, csch™ x = InC;+
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